INSTRUCTION

Model Product Code

C RACER

WWW.C-racer.com Royal Enfield Interceptor 650

Mask Café R RE-
Royal Enfield Continental GT 650 asik L-ale Racer MCR-RE-CR

You are advised to read the instructions carefully, before you proceed to any changes.
Any modifications on your motorcycle should be performed by specialized personnel,
however the installation process of this product is quite easy if you follow the instructions below.

CONTENTS

1 X Plastic Mask

1 X Windshield (plexi)

2 X metallic plate (inox L-RE-MCRCR1 Pair)

2 X metallic plate (inox L-Re-MCRCR2 Pair)

4 X M6 clip nuts

2 X M6x18 (adapter)

2 X screws M6X10 (allen)

4 X screws M6X15 (allen-round head-washer)
5 X screws M4X12 (allen-round head-washer)
5 X safety nuts M4 (washer)

2 X washer 6x12

Unscrew the front end nuts that hold together the meter mstruments and in their position use the (M6X18)
adaptors —as shown in the above photos 1 & 2.

Clip the clips as shown in the left hand photo.
Have a look on the next page to see how

and where to place the metallic plates — we place
them at the back of each metallic plate in the
square hole.

You may need to push them a bit harder on the
sides so that they clip firmly.

If in the installation package the gelatin is not
already placed on the mask,

you will need to do it, using the small nuts

and screws that you will find inside the package.




1 4 ””’h.%
"'b"i"""“'“ | WA
LT AR il

LR R

Put in place the metallic plates as you see in the above photos (4-5&6). First place the top ones on the adaptors that
you have already positioned and tightened in place. Do not securely tighten them yet so that you may make any
adjustments if needed. The lower metallic plates hold in place the headlight so proceed by gradually tightening
them in place — try on the mask to make sure the metallic plates are in the correct position and make your

adjustments before tightening.

Finally place the mask in position and gradually

tighten the screws in place.
You may still make any adjustments if needed

before you finalise tightening it in place.

The end result should appear as in the photo
Thank you for choosing one of our products.

The product is for race use only
For any further information please do not hesitate to contact us: Tel.: +30 2108075387 Email: info@c-racer.com

2/2



	Page 1
	Page 2

